
Cálculo B - Prova 1

1. Encontre uma expressão para
∫
sinn x dx

2.
∫ tan3(lnx) sec6(lnx)

x dx

3.
∫

x+3
4x4+4x3+x2

dx

4.
∫

dx
2+cosx

5. Calcule, caso exista,
∫ 1

0
dx

x
√
x2−1

Tabela de Integrais∫
sinx dx = − cosx∫
cosx dx = sinx∫
tanx dx = ln | secx|∫
cotx dx = − ln | cscx|∫
secx dx = ln | secx+ tanx|∫
cscx dx = ln | cscx− cotx|∫
sec2 x dx = tanx∫
csc2 x dx = − cotx∫
secx tanx dx = secx∫
cscx cotx dx = − cscx

Relações Trigonométricas

sin2 = 1− cos2 x

cos2 x = 1− sin2 x

sin2 x = 1−cos 2x
2

cos2 x = 1+cos 2x
2

sin 2x = 2 sin x cosx

cos 2x = cos2 x− sin2 x

1 + tan2 x = sec2 x

1 + cot2 x = csc2 x

sinmx sinnx = 1
2
cos(m− n)x− 1

2
cos(m+ n)x

cosmx cosnx = 1
2
cos(m+ n)x+ 1

2
cos(m− n)x

sinmx cosnx = 1
2
sin(m− n)x+ 1

2
sin(m+ n)x

Substituição útil: z = tan x
2
, sinx = 2z

1+z2
, cosx = 1−z2

1+z2


